B.Sc. 5th Semester (General) Examination, 2020 (CBCS)
Subject: Chemistry
Paper: DSE-1A
Time: 2 Hours Full Marks: 40
Candidates are required to give their answers in their own words

as far as practicable.
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Answer any eight questions from the following: 8x5=40
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1. Write down the postulates of Werner's theory of coordination compounds. Write down the
IUPAC name of the following:
Na[Co(CO),] and K,[Fe(CN)e]
e (91 S1Fe wIfid sred FereE @
IUPAC T (<1041 - Na[Co(CO).] and Ks[Fe(CN)¢]

2. Write with example, the difference between a double salt and a complex compound. Why
there is no precipitate of copper sulphide when H,S gas is passed through an aqueous
solution of copper sulphate and excess KCN?
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3. Whichis the preferred configuration for a d*> metal ion: tetrahedral or octahedral? - Explain
interms of CFSE calculation. Explain why aqueous solution of Ti* is colourless but aqueous
solution of Ti*"is violet in colour.
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4. Write short notes on Lanthanide Contraction. What are the limitations of Valence Bond

Theory (VBT)?
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5. Draw all possible geometrical isomers of complexes [Cr(en),(CN),]" and Pt(NH;),Cl,. Write
the hybridization and shape of complexes [Co(NH;)¢]** and [CoF¢]*".
SIS ST TUIeF SIS & - [Cr(en),(CN),]" and Pt(NH;),Cl,.
SRPARN 8 DB (G0 - [Co(NH;)e]** and [CoFe]™.

6. Fill in the following table:
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Configurations Jahn-Teller distortion is observed?

dj

d* (high spin)

d’ (low spin)

d® (high spin)

d® (low spin)

d8

7. Defineandillustratedeterminate andindeterminate errors. High precision does not always
ensure accuracy-illustrate.
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8. Whatis the superphosphate of [ime? How it is prepared?
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9. Briefly discuss about the manufacturing process of glass. What is vitrification?

PIHT TLAMN AT STNTE SR WAL B “Vitrification” BI?

10. What is setting of cement? Write the chemical composition of portland cement.

"Setting of cement” IS 3 (JICAT? (NOATSG HINCHI INE TSN (@0


https://crowncement.com/faq/what-is-setting-of-cement/

